A2

| like both apples bananas.

Answer:

She went to the store she needed some milk.
Answer:

He loves pizza, he doesn't like spicy food.
Answer:

| want to go to the party, | have a lot of homework.
Answer:

We can either watch a movie go for a walk.
Answer:

She is not only smart funny as well.

Answer:

He didn't study for the test, he still passed.
Answer:

| ran out of coffee, | need to buy some more.
Answer:

He was late for the meeting, his car broke down.
Answer:

She enjoys playing soccer, she also likes swimming.

Answer:




Answers

| like both apples bananas.
Answer: and
She went to the store she needed some milk.

Answer: because

He loves pizza, he doesn't like spicy food.
Answer: but

| want to go to the party, | have a lot of homework.
Answer: but

We can either watch a movie go for a walk.
Answer: or

She is not only smart funny as well.

Answer: but

He didn't study for the test, he still passed.
Answer: yet

| ran out of coffee, | need to buy some more.
Answer: so

He was late for the meeting, his car broke down.

Answer: because

She enjoys playing soccer, she also likes swimming.
Answer: and



